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1. ‘To-zfean efapia’ & g3 o, fr=fafaa st
T foar Sifsa:
1. & M3IN-2008 &1 dcliehd, $9% R
W YW Al STeeieh €l
2. IE AT 10 W 15 e | S & uH
e ¥ g e o o oW wfsa W
el B
3. Ig TolEd et i stfesdedt anfem ifsmden
U (W) THF YA T few B

g sl § W wiA-G/d el 2/R?
(a) o 1 3R 3 (b) wHaat 2
(c) ®aet 2 AR 3 (d) 1,2 3R 3

2. ‘e’ & Hed |, Frafafeaa werl w faar Fifsa:

1. 7 fordl g% 99 R 1 Hag W eEgSH

THd T & 9% 3TY TH aen Uk did
foerie 2

2. gUEEn & fouda a8 a7 favwle & 9”

AT T 1 e | oq" e A 8

ST HeA H W HHA-A TE B2
(a) o 1 (b) Feel 2
(c) 1 3R 2 <F (d Td1 A2

3. ‘SfymiemEt’ e fovm & gsd A, frefafaa
FeAl W foEm Fifee:

1. T8 JUda SR STl sfaRer St o
qH{ T8 B YoM foeE 2

2. TE TH € WA § UE SN SHS YA
HT WY oF BG I ARG AN HASH Al
wge faeH 2|

SUgF weAl ¥ W wH-G/A w22

(a) ®ad 1

(b) &ad 2

(c) 1 3R 2 <t

(d) Tat 1 SR A2

4. 8229 FuR SWE & §ed #, frefafad s
T foar Sifsa:

1. I8 14 FaR, 2018 Hi TH FR HeRepier
% HAW ¥ed HaRkel &% § GSLV MK
[I-D2 % g/ @=a foram mam

2. TEHT I3 T IR Hewqul grnflwa %
fodl 3= o8 & &9 § & w2

IwE FUA W 9 SE-FUA T 82
(a) ®ad 1 (b) Faad 2
() 1 3R 2 <=t (d) T 132

1. Consider the following statements in the context
of ‘GROWTH - India telescope’:
1. The observation of Nova M31N-2008 is the
first observation obtained by it.
2. It can move its focus from one part of the
sky to another in just about 10-15 seconds.
3.1t is a part of the Global Relay of
Observatories Watching Transients Happen

(GROWTH).
Which of the statement(s) given above is/are
correct?
(a) 1and 3 only (b) 2only
(c) 2 and 3 only (d) 1,2and3

2. Consider the following statements in the context
of ‘Nova’:

1. It is an intense eruption on the surface of a
white dwarf star after the accumulation of
hydrogen on it.

2. Opposite to Supernova, this star returns to
its original state after eruption.

Which of the statement(s) given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

3. Consider the following statements in the context
of ‘BepiColombo’ Mission:

1. It is the first mission of European and
Japanese space agencies to the planet
Mercury.

2. It is the first mission to send two space
crafts to simultaneously investigate a planet
and its environment.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

4. Consider the following statements in the context

of GSAT-29 communication satellite:

1. It was launched by GSLV MK III-D2 from
Satish Dhawan Space Centre at Sriharikota
on 14 November 2018.

2. Its objective is to serve as a test bed for new
and critical technologies.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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5. frAfafad wemi ® fa=r wifsa: 5. Consider the following statements:
1. 9Ra feera =gt sermen 1 332w it 1. The objective of the Neutrino Observatory
I FHON FT I FET B situated in India is to study neutrino
o X . particles.
2 7 é %.W i %\ }Iaf i 2. Neutrinos are the fundamental particles
wH anpHEd W WEfaw w9 & o e 2 which are formed naturally in the sun, stars
STF weHl ¥ W RE-T/A T 22 and the atmosphere.
ich of the statement(s) given above is/are
(a) Foad 1 Which of th (s) gi bove is/
correct?
(b) &I 2 (
a) 1 only
(©) 1 3R 2 T (b) 2 only
(d) a1 SR 2 (¢) Both 1 and 2
6. Frefafed worl W fomr Fifea: (d) Neither 1 nor 2
1. gm e TR Ose 4 wTe fiord 98 e 6. Consider the following statements:
a3 TRt Fom ges § e, Sife 1. Super Earth is a planet situated outside
' . ’ ) our solar system whose mass is more than
Jeeafd s v S a@ Tl et o that of Earth but far less than that of larger
gd & Bl 2l planets like Jupiter and Saturn.
2. HifeaHr o AW T # a9 Tereqq 9 2. Proxima-B, the star nearest to the Sun is
T oA | FAe TF FEE-ad # g situated at a distance of one light year away
from us.
= o ﬁ%% ST T S Which of the statement(s) given above is/are
ST & il : correct?
(a) HaA 1 (b) Haa 2 (a) 1only (b) 2only
© 1 3k 2 I @ =1 i (c) Both 1 and 2 (d) Neither 1 nor 2
7. *g%-2018’ F e § Frefafed s ® fER 7. Consider the following statements in the context
' of ‘INDRA-2018":
T . . 1. This joint military exercise was organized
1. T8 WY G AW T H ¥R SR B between India and France at Babina Military
% i el STeHl, SE o staifera e Station, Jhansi.
. It was aimed at enhancing the capabilities
T e 2.1 imed hancing the capabiliti
. - of the armies of both the countries under the
2. THHI STREF HIH T e H T aegis of the United Nations.
%Sﬁs;:?ﬁ 4 ;i ¥ /ﬁl : %gl Which of the statement(s) given above is/are
STYH el H -H/9 w&t 827 correct?
(a) e 1 (@) 1only
(b) 2 only
(b) Haa 2
) (c) Both 1 and 2
() 1 &R 2 3 (d) Neither 1 nor 2
(d T 1 eRTE2 8. Consider the following statements in the context
8. faT HermrR AT faifmm (smEeitany) & of Indian Ocean Naval Symposium (IONS):
Hed o frefafag ol ® faear i 1. This was launched by India in February
’ : : i 2008.
L. e ) 2008 ¥ TRA 5N & F T A 2. It is a very important regional maritime
2. W€ A Hew ol & WKl G 1Ee security initiative which endeavours to
2, S ARG e ® A" ECRIREIR TG generate flow of information between naval
F TEd F T professionals.
3. T F T 105t TS T 3. Its 10th anniversary was recently celebrated.
_ : Which of the statement(s) given above is/are
Sude weAl W W SE-"/A T 27 )
correct?
(a) ot 1 30 2 (b) e 3 (a) 1and 2 only (b) 3 only
(c) ®aet 1 33 (d) 1,2 33 (¢) 1and 3 only (d) 1,2and3
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0. Ao R W v’ F wed §, Freeran
FAl W =R Fifee:
1. T& WA faam o qrEifiest g5 & Se
renfirt faam qen @ fod 73 & 6=
10 3 % fod Y& F1 T TH e wy
w=®d 2
2. T WEA WY I GH gAfqE w1 ggee
HUM, S HT & T AN, YHAH SR
3@ W ARa g

ST el ¥ 9 wA-E/A T TE 287
(a) o 1 (b) Het 2
() 1 3R 2 <=t (d) T 132

10. ‘3D @mEfyfen’ & Hed #, fAfafad wed W
foar =wifsd:
1. 391 329 3D GEisll § U U T
Fifeh O SeA B, W IR F Wil
S i el HT Fohal Bl
2. IE qehle UH YaH SeEel & o
gferen yeM el €, foeenn gwmme fafi=
e & STER R S weRar 2

ST el W W wA-G/H T 22
(a) HaA 1 (b) HadA 2
(c) 1 3R 2 =H (d T SRAE2

11. fr=fafaa o | fa=r wifsa:
1. Sf¥een e AU (Telih) HE FE
TS IIHYA & Hey H hWR & dfvdw
Fg-3d w9 2
2. afyaeh HE AU (Telisieh) - 2018 g
S ARa-fafire e & ATER, a9 2012
Y 2018 T ARG § & ® HHA H 3T

HUT g B
STE oAl § 9 HA-T/A T 2/e?
(a) FaA 1 (b) Fad 2
(c) 1 3R 2 <+t (d) Fd 18R &2

12. 29-18 & wGed #, frafafad wedl | fo=r
EAISRE
1. 9% foa1 g5 areft, 16 = ¥ g TH
TIEeH Foll HIA A 2
2. TH O * S HiE bl | Tk
o T R
3. Tt Afsrad TiE 260 forHl. gfaser gri
ST wedl § 9 wA-E/A TE 2R
(a) Fad 1 3R 2 (b) wad 3
(c) ®aet 2 AR 3 (d) 1,2 3R 3

9. Consider the following statements in the context
of ‘India-UK Cancer Research Initiative’:

1. It is a bilateral research initiative between
Department of Biotechnology, Ministry
of Science and Technology of India and
Cancer Research, UK launched for a period
of 10 years.

2. This initiative will identify the challenges
of research based on affordable treatment,
control and care of cancer.

Which of the statement(s) given above is/are NOT
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

10. Consider the following statements in the context
of ‘3D Bioprinting’:

1. Its objective is to add independent
mechanical properties to 3D structures
which can mimic the natural tissues of the
body.

2. This technique provides the facility of
microscopic structures which can be used to
treat different diseases.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

11. Consider the following statements:

1. Global Cancer Observatory (GLOBOCAN)
is an interactive web-based platform
presenting global cancer statistics to inform
cancer control and research.

2. According to the India-specific data of
Global Cancer Observatory (GLOBOCAN)
-2018, there has been a sharp decline in
cases of cancer in India from 2012 to 2018.

Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
12. Consider the following statements in the context
of Train-18:

1. It is a high-tech energy-efficient, engine-
less train with 16 coaches.

2. It has been developed at the Integral Coach
Factory at Chennai.

3. Its maximum speed will be 260 kilometer
per hour.

Which of the statement(s) given above is/are
correct?

(a) 1and?2 only (b) 3only

(c) 2 and 3 only (d) 1,2and3
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13. 9cS dETSAR® e W HeR A GeA g
B W WK & T e wiie fad-2018" #
FTER, Frefafad s § 9 ®iA-9 w8 €2

1. offgd TR W 1970 ¥ 79 % T FT
o 87% i el B B
2. 2000 ¥ 2014 & o= "y fawa # 9,20,000
ot TR, a9 &9 T 8 T
3. 1970 | 2014 d Tl i, T,
IR SR gl Wl SEy W S
60% i HH €L B
4. 1960 ¥ 7 qo dfYerss wifEfaeg vefag
" 190% © s1fer 1 9fg g2 2
he:

(a) Hee 1 3R 3 (b) Heet 2 AR 4
(c) Fad 1,2 33 (d) 1,2,3 3R 4

14. ‘42 S St A e wonelt % wedd ),
fr=fafas wol w® faar Fifsa:

1. 9 WA fafeen wfaa 7 9 M=

S

fafeen wRfaa o gaRdes VReg o
TR SHIA SaAHS & HEAN ¥ IHRAl
1 W T < 2G THRT YEE HT 2
2. I8 T yumelt UK Hafga e gerdr
e @R Udig dR faeH & e a5t @@ R
3. & A% TN 9 &1 gorl H 9w
el @ad " 40% © 50% qe1 wiFal §
30% e i Kl T 2
STE wodl ¥ 9 HA-A/E TE 22
(a) HaA 1
(b) e 2 3R 3
(c) ot 1 3R 3
(d) 1,2 3R 3
15. ‘ifm g=sia AvaReg’ & g3y o, f=fafad
Fodl § § -G/ TE 287
1. 7% ufyem sl § sefeed ?
2. I8 YRG § e 9Me & e el &
I 39 T TN G T A 9 & T
3. 3G% B 3MEis H B H ofd el &

A% U wATHT el i Suftefd <@ T 2
h:
(a) Faad 1 (b) e 2 3R 3
(c) ®ael 1 AR 3  (d) 1,2 X3

T remEn | e 2
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13. Which of the following statements are correct
according to the ‘Living Planet Report-2018’
recently released by the organization World
Wildlife Fund for Nature ?

1. Globally, the wetland extent has declined by
87% from 1970 till date.

2. 9,20,000 square kilometer of forest arca has
been lost from the world from 2000 to 2014.

3. The population of fishes, birds, mammals,
amphibians and reptiles has decreased by an
average of 60% from 1970 to 2014.

4. The global ecological footprint has
increased by more than 190% from 1960 till
date.

Code:
(a) 1and 3 only
(c) 1,2 and 3 only

(b) 2and4 only
(d 1,2,3and 4

14. Consider the following statements in the context
of the ‘Net Zero Energy’ rating system:

1. Indian Green Building Council has
launched this in collaboration with World
Green Building Council and United States
Agency for International Development to
give green rating for buildings.

2. This rating system seeks to complement
National Mission for Enhanced Energy
Efficiency and National Solar Mission.

3. Its aim is to reduce the annual energy
consumption by 40-50 percent with respect
to national baseline and cut down the energy
cost by 30 per cent.

Which of the statement(s) given above is/are
correct?
(a) 1only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2and 3
15. Which of the following statement(s) is/are correct
with reference to ‘Coringa Wildlife Sanctuary’?
1. It is situated in West Bengal.
2. Itis the second largest Mangrove forest area

after Sundarban Delta of West Bengal in
India.

3. Recently, the presence of Greater Flamingo
bird was reported in its Hop Island after a
long interval.

Code:
(a) 1 only
(c) 1 and 3 only

(b) 2 and 3only
(d) 1,2and3
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16. ‘AR St 9k’ & "oy H, frafafed
FHorl R faar Hifa:
1. 9% T3 =T 3R HoifHfes 2R 1 sfifen
aren fova 1 gem fafgarr 21
2. % B e ara filg & Wi oo &
o s ©: vq@ fafear) & 9w 2
3. 3w H o= fafeamri =+t 9ifa 38 Sma &
TR Tefaa R T

IwfE FUA ¥ 9 S/ e @ 22
(a) Hael 1 3R 2 (b) wa 3
(c) Hae 2 3R 3 (d) 1,2 33

17. frefafed el w fomm Fifse:

1. & fafearr wftewto e gifafis fwm
2, fogen 9= SR 9Rd § WHed &
T@-T@E 3R W 3@ & ford =Aad
HESH T WMGE! Bl AN HE

2. Tafearri &1 a= Sfa (ERefon) sifufem,
1972 g fafmafga qen = fafeamsr
ifa, 1992 gr1 fEferd feram S 21

ST Fo H 9 HHA-UA TE B2

(a) ®ad 1

(b) &ae 2

(c) 1 3R 2 =H

(d) Ta 1 SR A2

18. ‘sop1-Wfafea 9’ & weol o, Frefafad swem
R foEr Hifsa:

1. A &g bR, o9 iR Seayg qied
AR TSie AMEARTY & STH-UE %
sAfgfad & 2

2. T eF arelt nfafateE e sie (Eeon)
afufm, 1972 % dead fatafsg ed €
T T YUY ST T AT T hT
STHfa @l B

3. | Tagidl & SaR s fowr fard
i & & omw-uw 10 TR 9% =+
TR | € Hehal B

SUgF weAl ¥ W wH-G/A w22

(a) Faa 1

(b) e 2 3R 3

(c) ®ad 1 3R 3

(d) 1,2 3R 3

16. Consider the following statements in the context
of ‘Nandankanan Zoological Park’:

1. It is the first zoological park in the world
with breeding of White tigers and Melanistic
tiger.

2. It is one of the six prominent zoos selected
for the preserved breeding of White-Backed
Vulture.

3. Like the other zoos of the country, it has
been established outside the forest.

Which of the statement(s) given above is/are NOT

correct?
(a) 1and 2 only (b) 3 only
(c) 2 and 3 only (d) 1,2and3

17. Consider the following statements:

1. Central Zoological Authority is a statutory
body whose primary aim is to implement
the minimum standards and parameters for
the maintenance and healthcare of animals
in India.

2. The zoos are regulated by the Wildlife
(conservation) Act, 1972and directed by
National Zoo Policy, 1992.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

18. Consider the following statements in the context
of ‘Eco-sensitive Zones’:

1. These are the areas around any conserved
area, national park or wildlife sanctuary
notified by the Central Ministry of
Environment, Forest and Climate Change.

2. The activities taking place in it are regulated
by Wildlife (conservation) Act, 1972and
establishing polluting industries and mining
is not allowed.

3. According to general principles their extent
can be upto 10Km around any conserved
area.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3
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19. ‘990 W@ YEEH gIEH-2018" & wld A,
frfafaa wul w faar wifa:
1. 39 ifa em gr S fmen w2
2. THH 32 TH/HSIMAA Y31 hl 5o
% FHIA 9 AqHAdH ST & URE
HT 2
3. 78 gaHis 10 W 7 30 sfewed @
et o1 21
4. T\F Aald T H 2 Rl ‘gERR o
et s’ @R ‘ot T’ Wiel T 2
IwE wUA W 9 SE-FUA w1 22
(a) ®ad 1
(b) o 1 3R 3
(c) ®ad 1,2 3 4
d 1,2,3 3 4
20. ‘UFIHd ara o A’ & g1y |, frefatea
Fol W foem Fife:
1. 9% 99 1985 H 6 9 ¥ &H Mg & F=dl
% garh foe™ & fad & 'a & ®9
T IE & T o
2. THH SR Y g W 9 S FKUE0
H wH H AR faaem § qfags 9 gd
v e UgH w4 2
3. 3Gkl R e g faec afeen w
el forehrE " Y 2
ST oAl ¥ 9 HA-E/A T TR 287
(a) ®ad 1
(b) e 2 3R 3
(c) ®ad 1 3R 3
(d) 1,2 3R 3
21, ‘g sl i’ % Ted ), Frefate e
R fa=mr #ifsa:
1. THHT SHERY WER JeaqdE 9ed &1
150eff SErdt 9 o
2. 78 R fava A o q% H gEg oAl

gfq 21
3. 39 ToRIa ¥ feod e 7t g W Tty
foran T 2
ST wedl ¥ 9 HA-E/A " TR 287
(a) ®ad 1 (b) o 2 3R 3
(c) Haa 1 3R 3 (d 1,2 3R 3

19. Consider the following statements in the context
of ‘Composite Water Management Index-2018:

1. It has been released by NITI Aayog.

2. Its objective is to motivate states/Union
Territories for efficient and optimum use of
water.

3. This index is composed of 10 Parameters
and 30 indicators.

4. The states have been classified into two
categories- ‘North-eastern and Himalayan
States’ and ‘Other States’ under this.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 1 and 3 only

(c) 1,2 and 4 only

(d) 1,2,3 and 4

20. Consider the following statements in the context

of ‘Integrated Child Development Scheme’:

1. This was launched as an initiative in year
1985 for the holistic development of
children below 6 years.

2. Its objective is to reduce Infant Mortality
Rate and malnutrition in children and
provide necessary pre-school education.

3. The overall responsibility of its monitoring
lies with Ministry of Women and Child
Development.

Which of the statement(s) given above is/are NOT
correct?

(a) 1only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3

21. Consider the following statements in the context

of ‘Statue of Unity’:

1. It was 150th  Dbirth
anniversary of Sardar Vallabhbhai Patel.

2. At present, this is the highest statue of the
world.

3. Itis established on the Sadhubet river island

in Gujarat.

unveiled on the

Which of the statement(s) given above is/are NOT
correct?

(a) 1 only (b) 2 and 3 only
(c) 1and 3 only (d) 1,2and3
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22. AR HT 2019 HI TAEA TIHIA HARRA
frae- ‘gered, foeemod ok uywyH’ % wed
¥, frafafed sl W faar wifsa:

1. I SATYETE qe YRonef S=al ol OTerTIReh
forem &1 @9 Y@ wH @ ATUER &
o 9 1 SqaferEl qen Ffea w g
T qurldt 2
2. 38& UR R fava # 3¢ 2000 & 91
STYATH! T2 ¥hel S 1 Y arel TRomeft
TeA H G W 26% I T 2
IwE wUA W 9 SE-FUA w1 22
(a) Had | (b) HadA 2
(¢) 1 3R 2 gF (d TR 2
23, freafafaa ot & 9 SiF-9/8 g9 2272
1. 9 TR SS9 2018 F TTER 119 390
H g H IR 1039 qEEH W R
2. U URER @eed 9de1-2016 &
Harfaeh, IRd ® 5 99 ¥ &A 3W I
e FT H dodl i G (38.4%) HT
A AU TR (22.9%) H1 ol

o TR SR 2
hd:
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <=t (d Td 1 ARAE2

24. GER IoAa9arE °d & usd o, fr=fafea
Fwol R fa=m Fifea:

1. = 1933 ®, MR § T el A
FT GRS Aqged fmar em

2. 3R IR & fHam & o TR
30 #1 T gfg & favg 1928 ® gamE
AR &1 Aged fehar ol

3. TR 1931 H YRAME WL HIH & HIA
ARSI HT 2TeATAT H1 e

4. 3= 99 1991 B TONYUT IRA IT FHAH

e
STdF weAl ¥ U wH-9 T 7?2
(a) Tae 1 3R 2 (b) o 2,3 3R 4
(c) Hael 1,2 33 (d) 1,2,3 3 4

25. 'ofrefyy wik Thefafya= UM (<A9) ' &
Hed o, fr=fafed wot ® fa=m #ifv:
1. B ® 34 $d AHd ganeE g e
TN wi=a feran TN SIR st Sevd fgda
T % AFRMAS Agahaisll &I TAR
T B

22. Consider the following statements in the context
of the UNESCO’s Global Education Monitoring
Report 2019 - ‘Migration, Displacement and
Education’:

1. It highlights the achievements and
shortcomings of countries in ensuring the
right of migrant and refugee children to
benefit from quality education.

2. According to the report the number of
migrant and refugee school-age children
around the world today has grown by 26%

since 2000.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

23. Which of the following statement(s) is/are correct?

1. According to the Global Hunger Index
2018, India occupies 103rd position among
119 countries.

2. According to the National Family Health
Survey-2016, the proportion of stunted
childreninIndiaunder 5 years ofage (38.4%)
is much higher than the international level
(22.9%).

Code:
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

24. Consider the following statements in the context
of Sardar Vallabhbhai Patel:

1. He successfully led the National Flag
Movement in Nagpur in 1933.

2. He had led the Satyagraha Movement
against the raise in the tax of farmers of
Bardoli in 1928.

3. He presided over the Karachi Session of
Indian National Congress in 1931.

4. He was posthumously awarded the Bharat
Ratna in 1991.

Which of the statements given above are correct?
(a) 1and?2 only (b) 2,3 and4 only
(c) 1,2 and 3 only (d) 1,2,3and4

25. Consider the following statements in the context
of the ‘Leadership for Academicians Programme
(LEAP)’:

1. This was recently launched by Ministry
of Human Resource Development and its
objective is to prepare second tier academic
leaders.
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2. g grawitie foa-aifa s=a foren et
o i e qe To drel T R
wEwa ¢, foad Jge fawm & fod
gieraror e S|

3. 399 q e HT R IR Th T«E H
faeft wfereror snfaa 21

Iwde w9 9 SE-FUA TE 287
(a) T | (b) eet 2 3R 3
(c) ®ad | 3R 3 (d) 1,2 3R 3

26. ‘TgAA fopeR w9 dAfan (siffa)’ &
e o, frAfafed wo o 9 SiE-9/8 weEl
2/27?

1. IE THASTH wiehid ‘T’ 1 ITART FHid
BT 15 @ I=d &0 9hE & Sies
o 3q T Y@ iR eFE TEd B

2. UEd WRO H o3& fRaraEm & fe 75
fovg-fafyre Heoi 1 we=m &1 T 2

h:

(a) ®ad 1 (b) Had 2

(c) 1 3R 2 <=t (d Td 1 ARAE2
27. frAfafad wemt | foemr #ifvd:

1. T ¥ foer 1 Wl ot & dnifos
Geha (SHerg) 1 31 9eE fRean T Rl

2. T drifesh Hebd (SemE) 1 o w@
IR YoM TR @ @, e
fafere dimifers 91 &7 e 2

3. HAriifelsr Gehd 1 TSR0l heed | oY &

o W= g 2
ST woAl § 9 HA-T/A T 22
(a) ol 1 3R 2 (b) w3
(c) Faet 2 X3 (d) 1,2 X3

28. ‘mraTfeek foaam o wRR HAfq erqdem (399)
e & wed o, frmfafed ot W faem
Hiferd

1. 3H&1 Hared 7= 2020 T fhan S

2. 3H® Td Iod fian HeAa W 9w
faam gy w1 gaeft w sk Aifa
TR % fad 2 T " 1500 SEUN
PIEECRC IS |

3. AR WIS ToR ol SAgHA 9o

(AEHTHTEAR) 39 AISHT i hTa-=a
T 2

2. It is a three weeks Flagship leadership
development training programme in
government funded higher educational
institutions which will provide training for
development of leadership.

3. It includes two weeks domestic and one
week foreign training.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 1 and 3 only

(b) 2 and 3 only

(d) 1,2and3

26. Which of the following statement(s) is/are correct
with reference to ‘Annual Refresher Programme
In Teaching (ARPIT)’?

1. It is a major and unique initiative of online
professional of 15 lakh
higher education faculty using the MOOCs
platform ‘SWAYAM’.

2. For implementing it, 75 discipline-specific

development

institutions have been identified.
Code:
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
27. Consider the following statements:
1. Recently, Shahi Litchi from Bihar was
given Geographical Indication (GI) Tag.
Indication (GI) Tag is
provided to the products which have a

2. Geographical

unique native geographical area.

3. The registration for Geographical Indication
is valid for a period of 1 year only.

Which of the statement(s) given above is/are

correct?
(a) 1and 2 only (b) 3 only
(c) 2 and 3 only (d) 1,2and3

28. Consider the following statements in the context
of ‘Impactful Policy Research in Social Science
(IMPRESS)’:

1. It will be carried out until March 2020.

2. Under this, 1500 research projects will be
awarded for 2 years to support the social
science research in the higher educational
institutions and to enable research to guide
policy formation.

3. Indian Council of Social Science and
Research (ICSSR) will be the implementing
agency for this scheme.
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IwfE w9 9 SE-FUA TE 282
(a) e 1 (b) ®aa 2 317 3
(c) ®ad | 3R 3 (d) 1,2 3R 3

29. ‘SThTEfd A STTUM T FagH Al
(Tm) ' & Ged ®, fr=fafea womt  faem
EAERE

1. THeR e YR HeIHi 1R fove & wemw
HeAHl & o9 STRIEHS TE AT e
I GTH TR IRA & Iod 18707 Feei
o S qRgYd i S8a S g

2. YR Uil e, SR sHe
wEfTd & fad Ut gu=aasTd

HEqH 2
ST Fod H§ 9 HHA-TUA TE /2
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 <=t (d Td 1 ARAE2

30. IR Afga T Sfaw qecdd & 59 YR
1 3MASH BT H fohw T o TR e em?
(a) 7 feeedt (b) BfTEmom
(c) HEA WS (d) T
31. Fr=fafed st | fa=r #ifea:
1. 21 TR, 2018 Hl R 88 THR &
e &1 70 aumis gaE TE
2. g9 1943 ® TSt guOES a9 7 AR
¥ g 53 & ®9 o TR TR H1
TITYAT 1 ST HT eff

SUge el W W wiA-G/d T 22
(a) FaA 1 (b) ®ad 2
(c) 1 3R 2 <A () Ta 1 SRAE2

32, ‘TRt WSR AeEl & U] H fAefated
FHodl o ° wHA-"/E G 227

1. 9% AR {6 g1 e 2018 H TSTE,
IraTed) A At e difgam 3 & o
& H T TH FGdl HIHd Jone! 2|

2. U9 YEAM H wee 10 wiawa Hel &
foa g fewEn on e ®, qeave
gI® 10 gfawa 9 &1 gfeT & 9%
fema # 10 wfaed &1 agrad #
I

3. TEY W & SR W Afhad 50 HIEsl
e feperan agar 2

hd:
(a) & 1
(c) ®ad | 3R 3

(b) et 2 3R 3
(d 1,2 3R 3

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) 1and 3 only

(b) 2 and 3 only

(d) 1,2and3

29. Consider the following statements in the context
of Scheme for Promotion of Academic and
Research Collaboration (SPARC):

1. It aims at improving the research ecosystem
of India’s Higher Educational Institutions
by facilitating academic and research
collaborations between Indian Institutions
and the best institutions in the world.

2. Indian Institute of Technology, Kharagpur
is the National Coordinating Institute to
implement it.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

30. In which state was the 5th edition of Women of

India National Organic Festival organized?

(a) New Delhi

(¢) Madhya Pradesh

31. Consider the following statements:
1. The 70th anniversary of formation of the
Azad Hind Government was celebrated on
21st October 2018.
2. Subhash Chandra Bose declared Azad Hind
as a temporary government in Singapore in

(b) Haryana
(d) Rajasthan

1943,
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

32. Which of the following statement(s) is/are correct
with reference to ‘Flexi Fare Scheme’ ?

1. It is a surge pricing system adopted by
Indian Railways in November 2018 for
premium trains like Rajdhani, Shatabdi and
Duronto.

2. Inthe beginning, normal fares are applicable
upto 10 percent of the seats,and it goes
on increasing by 10 percent with every 10
percent of berths being booked.

3. The fare increases by upto 50 percent as per
the demand.

Code:

(a) 1 only (b) 2and 3 only
(¢) 1and 3 only (d) 1,2and3
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33. freAfafed womt W faur Fife:
1. AIge @y At 1961 % IR A &
FREM, @M, 9FMH, JHH TI gfasH
R o b omd ®, Sl 10 e

IEd afes = wrEE B
2. A @19 (§EEH) SAtafEm, 2017 &
@ ga efufrem ® denem fean e,
fsms qga Afeen wd=fEl & fod ad
Hfed A TG I &Y 12 TR

T g 26 TR Y < TR

IwE FUA W 9 SE-FUA w1 282
(a) ot 1 (b) waa 2
(¢) 1 3R 2 gF (d T RAL2

34, A H gAE AN gR Afge Hagmarst &t
faum s 99 ¥ Hag[ 8q gicdled &l &
fora fr=fafea & 9 foa =g = fafu= fatem
g W ‘HEET HagM ®%’ hl TATTA HI
TS off?

(a) SIETE (b) fmom

OREE] (d) dfHerrg

35. @S faga gomell gurR aiErsHr & w3 o,
frefafea ot w faer wifsa:

1. I Ui 9Rd SR 51 2014 | A4
&2 U ‘gew g faseht’ FEwT &0
e 21

2. 39 gfEsE ¥ e i weeite few
% TIEAE | 2020 T TasTell ITqeA aTHdr
3.5 Thmere ("R e 9 2.5 e
ScareA gfed) *1 gfg [ 1 gaeE 2

ST oAl ¥ 9 HA-T/A T T 28
(a) & 1 (b) wae 2
(c) 1 3R 2 =H (d T SRAE2

36. fr=fafed womi w faur w3

1. T TEER &5 % Hod Hagd S Sfd
@Al % TAh O H Tedl A% B A
T U T FEIEt Fl HH FE & I3
Y @E YEER SEN §eE g % o
M B U A @ H T B

2. WM HE U U FoR STRG gfteeniun
% WY ¥ @ GHEE & fod enygfie
IR Gfaemd g L 2l

3. WM HE U AN % ded 9RA SRR §R
YE W HE T oG I 100 HAS HT
ot ooz € 9 21

33. Consider the following statements:

1. Factories, mines, plantations, shops and
establishments and other entities where 10
or more than 10 employees are employed
come under the ambit of Maternity Benefit
Act, 1961.

2. It was amended via Maternity Benefit
(Amendment) Act, 2017 under which
the maternity leave period for women
employees was increased from 12 weeks to

26 weeks.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

34. Inwhich of the following states, ‘Sangwari Polling
Booth’ was established in various constituencies
by Election Commission in order to encourage
women voters to cast their vote in Assembly
Elections ?

(a) Chhattisgarh
(c) Punjab

(b) Haryana
(d) Tamil Nadu

35. Consider the following statements in the context
of Jharkhand Power System Improvement Project:
1. The Project is part of the Government of
India’s ‘Power for All’ programme launched
in 2014.

2. The plan envisages addition of over
3.5 GW generation capacities by 2020
(including production of 2.5 GW from solar
energy), through Private and Public-sector

investments.

Which of the statement(s) given above is/are NOT
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

36. Consider the following statements:

1. Mega Food Park Scheme was implemented
in the country by Ministry of Food
Processing Industry with an aim to reduce
wastage of perishables at each stage of
value addition and suuply chain in food
processing sector.

2. Mega Food Park provides modern
infrastructure facilities for food processing
through a cluster-based approach.

3. Under the Mega Food Park Scheme, a
financial assistance of 100 Crore Rupees
is provided by the Government of India for
each Mega Food Park.
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IwfE w9 9 SE-FUA TE 282
(a) Tae 1 3R 2 (b) woe 2 3R 3
(c) et 3 d 1,2 3K 3

37, sifewm ferm womE g Wt @ wed )
freAferfed worl & @ wH-a/@ et 22?2

1. % WeH gd & 3 1 T faene ufeey 2

2. 3H FAWR! 7 99 1984 H fove exiEY T

=fta foman em
e
(a) Had | (b) Had 2
(c) 1 3R 2 =F (d T RAL2

38. ‘Tedl’ AW o arE I & ged |, f=fafea
HYA W fa=mr wifsa:
1. 359 < g9 379 | 9 B 2, AR gt
FT e § T gl el
2. THH YA & FeASITaTH % GHE § &
ST aTeft e g % IR R S #
3. 39 fagtva: Tt foesa 4 R & 91
AR A HT AT ThA1 ST B

ST HeA W wHA-A TE B2
(a) ®ae 1311 3 (b) s 2
(c) aet 2 3R 3 (d 1,2 33

39. fr=fafed wot W faur w3
1. ga ¥ frar 7 f gfean sermvma =%
sAreq wiead w1 e fawar T
2. 39 wiega ¥ S 95pfd 9 92 fafa=
TS MR &1 I HF Al

IwfE w9 9 SE-FUA TE 287
(a) et | (b) Fad 2
(¢) 1 3R 2 <1 (d) Td 1 RAL2

40. T ¥ 9RdTE ofeen gashers THEL HwE
3 fove afgen gaharl =fwEERT & HE-
@i wew wifda fear €7

(a) =T (b) =ten
(c) dr=al (d) Bt

41. freafafed s W faer #ifsa:
1. 9RdE "faum &1 IR &t wfaa
[T g/ 24 S, 1949 &1 WHR foman
T e

2. ARG Hfgum w1 SRR =rEed gh
gada 2

3. WA Gfaus ®1 IR 9 ®ad Th
TR 42 wfgum geneq sifufem, 1976
B WIMYA H 9 A I FHSIERT,
vufrder ok er@ed Wie T |

Which of the statement(s) given above is/are

correct?
(a) 1and?2 only (b) 2and 3 only
(c) 3 only (d) 1,2and3

37. Which of the following statement(s) is/are correct
with reference to the Konark Sun temple of
Odisha?

1. It is a huge replica of the chariot of the Sun
God.

2. It was declared a World Heritage Site by
UNESCO in 1984.

Code:
(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2

38. Consider the following statements in the context
of folk musical instrument ‘Sambal’:

1. It consists of two drums united from a side

but the sound from both of them is different.

2. Sambal is used in the Gondhal Pooja

performed to revere Goddess Tulajabhavani.

3. It is specifically used by tying around the
waist during Ganpati Visarjana.

Which of the statement(s) given above is/are
correct?

(a) 1and 3 only (b) 2only
(c) 2 and 3 only (d) 1,2and3

39. Consider the following statements:
1. Recently Third India International Cherry
Blossom festival was organized, in Shillong.
2. The key attractions were different events
related to the Japanese Culture.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2

40. Recently, which gold medal was won by Indian
women boxer M.C. Mary Kom in Women’s World
Boxing Championship ?

(a) Third (b) Fourth
(c) Fifth (d) Sixth

41. Consider the following statements:

1. The Preamble of the constitution of India
was adopted by the constituent assembly on
24 January 1949.

2. The Preamble of the constitution of India is
enforceable by the court.

3. Three Socialist, Secular and
integrity were added by the amendment to
the Preamble of the constitution of India
done only once by 42nd Constitutional
Amendment Act, 1976.

words-
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IrfE FUA W 9S-I/ T @ 22
(a) ol 1 3R 2 (b) Heet 3
(c) ®ad 2 3R 3 (d) 1,2 3R 3

42. fr=Afafad womt W foer #ifed:

1. IR gfaum &1 T=93-24 HB I9MST
A finmd et fRiy @ @iemr gsE
EZulS

2. ARG Giau™ &1 STw’-22 HREM S
o aretent & TS 1 gfane s 2

3. qRAE wfau™ @1 eT=88-23 "Hd &
AR X e o™ 1 oY s 2

SwdE wUAl W 9 SE-F/A w1 27
(a) e 3 (b) o 1 3K 2
(c) ®ad 2 3R 3 (d 1,2 3R 3

43. freafafed s W faer wifsa:
1. ORda Gfaum &1 T9=88-19 § ANTRERT
H T: TAAAE YT BT T R
2. T @aFde W a=ss-19(2) | 19(6)
Toh | R dfaum o gfeagaa Heaea
ot =ifa ferat g 2
ST Fer H W BHA-FA TE R/R?
(a) Faa | (b) HadA 2
(c) 1 3R 2 <+t (d Fd 1 RAL2
44, Treferfea wo o @ SiA-G/8 FE 2272
1. AfErE IRA™ (THARSE) 9Rd & &
T Bid 2, fohq A =1 sraEmE 2q
YR 9Rd § ael e 3 2
2. ARdE qa % AR (femdet) o safw
&, S T a1 e qefs Wrd & Anies
® %, forq adam o 3 forelt o 3w &
e 2
3. GUIUNE 9RdE Aniies (enEieng) 9
=afed gld €, St faeft amfir gid € qen
YR k! Frara fadw § & et 21

h:
(a) e 1 (b) ®aa 2 317 3
(c) ®ae 1 3R 3 (d 1,2 3R 3

45. frefafed weml T fo=amr Fifsa:
1. & Tt & o 9 fafer =1 9= s e
& @ ga ifeehRl W fstem & o S
ehel B

Which of the statement(s) given above is/are NOT
correct?

(a) 1and 2 only
(c) 2 and 3 only

(b) 3 only
(d) 1,2and 3

42. Consider the following statements:

1. Article-24 of the constitution of India
provides protection against arrest and
detention in certain cases.

2. Article-22 of the constitution of India
prohibits of children in
factories etc.

3. Article-23 the constitution of India prohibits
trafficking of humans and forced labour.

employment

Which of the statement(s) given above is/are
correct?

(b) 1and2 only
(d) 1,2and3

(a) 3 only
(c) 2 and 3 only

43. Consider the following statements:
1. Six freedoms have been granted to the
citizens in Article-19 of the constitution of
India.
2. From Article-19(2) to Article 19(6),
reasonable restrictions have also been
imposed on these freedoms.

Which of the statement(s) given above is/are
correct?

(b) 2 only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

44. Which of the following statements is/are correct ?
1. Non-Resident Indians (NRI) are citizens
of India only, but they generally reside
outside India for employment or carrying
out business.

2. Persons of Indian Origin (PIO) are persons
whose ancestors have been citizens of India
but presently they are citizens of any other
country.

3. Overseas Citizens of India (OCI) are the
persons who are foreign nationals and they
generally stay abroad.

Code:
(a) 1 only
(¢) 1and 3 only

(b) 2and 3 only
(d) 1,2and3

45. Consider the following statements:
1. When Martial law or Military rule is
imposed in an area, the fundamental rights
cannot be restricted.
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2. wOE Wy e, qfew, @i o
TEAR yoelt | s s & 3T
sedl 1 Sfed uer ghREd s 3K
ITH SR S WA & ford g iR
Y ofed wU Thdl € A ghmge gidey
M Hehdl B

IwdE w9 9 SE-FUA HE 282
(a) ®ad 1 (b) ®ad 2
(c) 1 3R 2 =F (d Td 1 RAL2
46. Trefafed waal & 9 wE-9/8 wE @ 2/
22
1. T8 & Hifq-fRye 7@ = §u

EECRIRE

2. T & HAifq-Feees o ol YHia GRS
Bt 2

hd:

(a) ®ad 1 (b) Faad 2

(¢) 1 3R 2 F (d T RAL2

47. freafafad s W faer #ifsa:

1. 9RA &1 TeUfa A9y Hated 7gfa 9@
farffaa gian 21

2. Tgufd & 9AE & 99y Afe fedt faumas
¥ %3 WH @t § @1 5 = #7
faumgs w7 ® d wegufd w1 <A it
& S 2

3. 9RA &1 qeUfd g1 & fad 99 9 9Ra
1 AN BT Evas el 2

ST el W W wA-G/H T 22
(a) ®ad 1 (b) Haa 2
(c) ®ad | 3R 3 (d 1,2 3R 3

48. frAfafad wemt W foar &ifvd:

1. YR eeufa a1 Swrseufa & fate= 9@
Heferg @t wemen iR faemel &1 Si=
Td Al STAqH =A@ 5 R S
2 den 3T Fotg sifam =i 2

2. Teeufd 1 g6 aeq & ford forddt geamsft
HT AW FHA-W-FH 20 HAS@ST F
&t 3 HH-H-%HH 20 g AT

g =nfedl
ST wedl ¥ 9 HA-E/A " TR 287
(a) T 1 (b) e 2
(c) 1 3R 2 <t (d Td 1 R 2

5 The Vision
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2. The Parliament can reasonably restrict
or abrogate the fundamental rights of
the members of armed forces, police
forces, intelligence  agencies  and
telecommunication systems to ensure the
proper discharge of their duties and the
maintenance of discipline among them.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2
46. Which of the following statement(s) is/are NOT
correct ?

1. The Directive Principles of State Policy are
enforceable by courts.

2. The Directive Principles of State Policy are
positive in nature.
Code:
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

47. Consider the following statements:

1. The President of India is elected by an
indirect electoral system.

2. If some seats of the legislative assembly are
vacant during the election of the president
or legislative assembly of any state is
dissolved, the election of the president is
impeded.

3. It is not required to be a citizen of India by
birth to be the President of India.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 2 only
(c) 1 and 3 only (d) 1,2and3

48. Consider the following statements:

1. All doubts and disputes in connection
with election of the President or the Vice-
President of India are inquired into and
decided by the Supreme Court and its
decision is final.

2. For any candidate to contest for the election
of the president, his name must be proposed
by at least 20 electors and seconded by at
least 20 electors.

Which of the statement(s) given above is/are NOT
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
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49. XA & ‘mWeEarRl’ & wed ®, frAfafeq
Fot R faum Fife:
1. "er=reER! 9w 30 & fad =9 araaret
1 B SAEvAS ®, W SeUdH A
%1 =i fgE e & o e 7
2. I8 UG % gHRTdd 9% W Edl 2l
3. TH WU % I 99 ° Hd 37 A SAUHR

& et 2
ITe woAl § 9 HA-T/A T 22
(a) ol 1 3R 2 (b) et 1R 3
(c) Had 2 (d) 1,2 3R 3

50. frefafed wot W faer Fifa:
1. 9umEsh 9 w1 denfe gH@ g €,
Safer TeUfa arfas YH@ Bl Bl
2. HET AT &1 gl A3h! HI AeAEr
SAHEHT HT LTl Rl B

3. +E 9iufug %1 9@ gurEst g 2

ST HeA W W HHA-A TE B2
(a) ol 1 3R 2 (b) Heet 3
(c) ®ad 2 3R 3 (d 1,2 3R 3

51. ARESTE 1 '@ GUreHs Frar (fH)’
% wed ¥, frfafe wot w faer Fifsa:
1. @R GuRIeHs hrdamE! Th gdaaf gfwan
e, e wieam @ SeEtemE uR § =d
® dhi i Hmw e wEl & oo
g yfgeferd & 2

2. odHE | HrESTE &% % 21 a4k 9 9 11

e dfiT & TR § e €1

ST HeA W W BHA-A TE B2
(a) FaA 1 (b) ®ad 2
(c) 1 3R 2 =F (d T RAL2

52. ‘=g fasmw - 2019' & w3d o, fe=fafea
FHodl R fo=m ifse:

1. g furd fava o g s 1 S R

2. 79 e & 9ra w1 7790 Ty e )

3. 39 U & oI9R a9 Sear@qd guR

FH Tredt referazent sTw I,

e MR (STl HIE), THT 3R

el B
ST For 9 HA-TUA TE B2
(a) a1 (b) wod 2 3R 3
(c) ol 1 AR 3 (d) 1,2 3R 3

T remEn | e 2
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49. Consider the following statements in the context
of the ‘Attorney General’ of India:

1. The qualifications required to be appointed
as Attorney General are same as that
required to be appointed as the Judge of the
Supreme Court.

2. He holds office during the pleasure of the
president.

3. He does not have the right to vote in both
the houses of the parliament.

Which of the statement(s) given above is/are

correct?
(a) 1and 2 only (b) 1and 3 only
(c) 2only (d) 1,2and3

50. Consider the following statements:

1. The Prime Minister is the statutory head
while the President is the real head of India.

2. All the meetings of the Union Cabinet are
presided by the Speaker of the Lok Sabha.

3. The Prime Minister is the head of the Union
Council of Ministers.

Which of the statement(s) given above is/are

correct?
(a) 1and 2 only (b) 3 only
(c) 2 and 3 only (d) 1,2and3

51. Consider the following statements in the context
of the ‘Prompt Corrective Action (PCA)’ of RBI:
1. Prompt Corrective Action (PCA) is a
supervisory procedure by means of which
RBI prohibits banks which are running in

deficit from executing certain functions.
2. Presently, 11 out of 21 Public Sector Banks

are included under the PCA Framework.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

52. Consider the following statements in the context
of the ‘Doing Business Report-2019’:

1. This report is released by the World Bank.

2. India has got 77th position in this report.

3. According to this report, the economies
showing most remarkable improvement are
Afghanistan, Djibouti, China, Azerbaijan,
India, Togo, Kenya, Céte d'Ivoire (Ivory
Coast), Turkey and Rwanda.

Which of the statement(s) given above is/are
correct?

(b) 2 and 3 only

(d) 1,2and3

(a) 1only
(c) 2 and 3 only
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53, ‘garg’ & 9sd o, frefafed oAl | faar
EAISEE
1. T 9&hed & 9 H THHRT T3A 2007 H
fram = e

2. gd9E § 91 Hifua @ feg-wema &
1 Ay, TgE AR gE oA 2

IwE FUA W 9 SE-FUA w1 87
(a) e 1 (b) Faa 2
(¢) 1 3R 2 A (d T RAL2

54. freafafed wot W faer w3

1. T ¥ @efgg B 4% ®R aew ofF &
qed wa O% &1 frafa v gwem
T feade s gwes st
foran =i

2. Saifsera wd eiw sfedr, sMEgHiTA,
AT & dhlh! AT W UFieol
X o7 faum wd oAergid 4 g9 w9 9
THHT A fham e

ST el W W wA-G/H T 2/R?
(a) HaA 1 (b) HadA 2
(c) 1 3R 2 =H (d T RAE2

55. gara fafael & wed o, f=fafad wom
fo=m =ifea:
1. vara fafaar sz & i@ feord yare stiat
BRI BIS T % fevrm wEiae d o+ et
gl
2. goreal fafaal =i fava 1 wGrRE S9
ferfaerar =1 gfe—dfe |1 ST € a2 3=
U auf o= off wer S 2l

SudE el W W wE-"/A w22
(a) Faa 1 (b) e 2
(c) 1 3R 2 <t (d Td 1 R 2

56. ATERar (EIneE) sfufted, 2016 & @3 7,
freafafea womt | foar w13

. 9% q&®T ¥ T 4 & Ao e
AYETEl qen e 9 Hafid 2

2. I WY T 1 TE=H HId © S iR,
Wﬁtmaﬁ%@ fa,
g, S, S8 A U wHEE @ et
FEy gardt € R Amiedr uwer %
I 2

3. 3Eh IER oY <&@ @l 8 W
I Sl &l S S S A g et
foran ST

53. Consider the following statements in the context
of ‘Quad’:
1. It was constituted in 2007 as a resolution.
2. Presently, its aim, as declared, is to make
Indo-Pacific zone open, prosperous and
free.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

54. Consider the following statements:

1. Recently, a three-day International Conference
on Status and Protection of Coral Reefs was
organized in Lakshadweep under the theme
‘Reef for Life’.

2. The Department of Environment and
Forest, Lakshadweep organised this with
the technical support of Zoological Survey
of India, IUCN and ENVIS.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

55. Consider the following statements in the context
of Coral Reefs:

1. Coral reefs are made of Calcium Carbonate
secreted by coral organisms living inside
the sea.

2. Coral reefs are considered to be the hot-spot
of oceanic biodiversity of the world and
they are also known as oceanic rain forests.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

56. Consider the following statements in the context
of Citizenship (Amendment) Act, 2016:
1. This is related to two categories of people-
illegal immigrants and overseas.
2. It recognizes the persons who are illegal
migrants from Pakistan, Bangladesh and
Afghanistan belonging to Hindu, Sikh,

Buddhist, Jain, Christian, and Parsi
communities and are eligible to obtain
citizenship.

3. According to it, they will neither be
imprisoned even if they do not have legal
documents nor will they be deported.

T remEn | e 2
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IwfE w9 9 SE-FUA TE 282
(a) Tae 1 3R 3 (b) e 2
(c) ®ael 2 @R 3  (d) 1,2 X3

57. fr=afafea wot | fa=m #ife:
1. <& fohdl safe a1 geen W fRdl o9y
T AT ST Sl € dl 9drg e
F ITITSE-20 & UAHE IAh ATIHRY
1 & w2
2. STEIE-20 1 AR & AR off Freifaa
T fopan S Hehan 2

U el § W wA-G/H T 2/R?
(a) ®ad 1 (b) Had 2
(c) 1 3R 2 =F (d T 1 RAE2

58. frefafed ol W fa=m wifa:

1. 31U MU S AR | (2017) AHR
a1 | Hellea =rarerd grl farelt & SR
e SaH & fad wwa fauifa feen
T AUl W-efd el W oM W
gfdes e T e

2. GHATY FHIRAAY HeTSH oM HERE T4
(2018) M 9] § Haled =T gRI
STYfEa Sfd T SIS (STTeR-Teh ™)
stfufTam, 1989 &1 ¥ 18 &l TR fora

RIRII
ST woAl § 9 HA-T/A T 22
(a) Foa 1 (b) wae 2
(c) 1 3R 2 <A (d T SRAE2

59. fr=fafed womt ® faam Sifsa:
1. fsen =menefen 1 fgfea, 95w @
TSI=d [T & 3=9 A & qOHst
g Tegufa g &1 W 2
2. e =meneiier =t fafaw 9 soRifas <=t
g Al H qA T eTdied e

T B
ITE oAl § 9 HA-E/A " 2R
(a) Haad 1 (b) HadA 2
(c) 1 3R 2 <A () Ta1 ST 2

60. Fr=fafea womt ® faam Fifsa:
1. wifsat &1 gergeRtor fagid TR & dmt
i~ faenfassr, wrefafesr, =madafes
% Heg d gl 9 gafud 2l
2. ORdrE wfgum o wifed geramor fagia =
e I ¢

Which of the statement(s) given above is/are
correct?
(a) 1and 3 only
(c) 2 and 3 only

(b) 2only
(d) 1,2and3

57. Consider the following statements:

1. When any person or institution is accused
of any crime, the provisions of article-20 of
the constitution of India protect their rights.

2. Article-20 cannot be suspended even during
emergency.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

58. Consider the following statements:

1. In Arun Gopal versus Union of India case
(2017), the Supreme Court decided the time
ofbursting firecrackers in Diwali and banned
the bursting of non-green firecrackers.

2. In Subhash Kashinath versus State of
Mabharashtra case (2018), the Supreme
Court declared Section 18 of Scheduled
Caste and Scheduled Tribe (Atrocities-
Prevention) Act, 1989 as void.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
59. Consider the following statements:

1. The appointment, posting and promotion of
district judges is done by the President in
the consultation with high court.

2. The district judge has original as well as
appellate jurisdiction in both civil and
criminal matters.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor 2

60. Consider the following statements:

1. The Principle of the Separation of Powers
is related to the mutual relations between
the three major organs of the government
namely; the legislative, the executive and
the judiciary.

2. The Principle of the Separation of Powers is
explicitly mentioned in the constitution of
India.
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IwfE w9 9 SE-FUA TE 282
(a) et | (b) FaA 2
(c) 1 3R 2 =F (d) Td 1 RAL2

61. ‘tTI-66A" & Hed #, fAfafed wudl
fomm =ifsa:

1. ad 2015 ® wal=ss =aE@™d 3 gaAl

rEifireRt (SAfufem) | 2000 w1 5@ HRT

I FAN d g STEATTR  Sifea
ferar em

2. 3@ FEAu e & w1 Hele

e &1 i gen foue 9w ara

g9 e ® fgam e oem

U el W W wA-G/A T 2/R?
(a) Had | (b) HadA 2
(c) 1 3R 2 <+t (d T RAE2

62. ‘a1 UEHR IIA FEAN TG FaER areq &
e o, fr=fafed womt ® fa=m &t
1. I A T gesrt fasm fm g
gied T 1000 HAE & HEHTRAT W -39
wd JaE=R fafy @ faw =
2. T9 AN H1 @19 ©F g HA-9-FH 5 TG
4 gurfad g+t yR 1wl afgfaar

= g
ST For H 9 HHA-UA TE B2
(a) & 1 (b) wae 2
(c) 1 3R 2 <t (d) Fd 1 AL 2

63. ‘Teta wEgwrd fawma frm’ & wyd A,
frefafea wo W faar wifsa:

1. TO&! T 99 1963 H WEE & TH
sfufran g0 $f wd foam weam
TAd & 3iaita Uk wifatus frm &
9§ &1 T o

2. 9% HEard &3 vg W fa<ita qen
ferehTaTcHeh GEH & ®9 | h1Id THHAS
Hifafers H1aq 21

3. 9% HY A Hag & & Faman fafa=
&5 B GEhIid i Hedn g Ll 2|

IwdE FUAl W 9 SE-FUA TE 282

(a) e 1 3R 3 (b) e 2

(c) ®ad 2 3R 3 (d) 1,2 3R 3

64. ‘T foxita =@ it & wed A,
frfated wod W fo=mr w13

Which of the statement(s) given above is/are
correct?

(b) 2only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

61. Consider the following statements in the context
of ‘Section-66A’:
1. The Supreme Court had declared this
section of Information Technology Act,
2000 unconstitutional deeming it to be void.
2. The Supreme Court decision to declare it
void was ruled in Shreya Singhal versus
Union of India case.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2

62. Consider the following statements in the context
of “Yuva Sahakar - Cooperative Enterprise Support
and Innovation Scheme’:

1. The scheme will be linked to Rs. 1000
Crore Cooperative Start-up and Innovation
Fund created by the National Cooperative
Development Corporation.

2. All types of cooperatives in operation for at
least five years are eligible to benefit from
this scheme.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

63. Consider the following statements in the context
of the ‘National Cooperative Development
Corporation’:

1. It was established by an Act of Parliament
in 1963 as a statutory Corporation under the
Ministry of Agriculture & Farmers Welfare.

2. 1t is the only statutory organization
functioning as an apex financial and
development institution for cooperative
sector.

3. Apart from agriculture and allied sectors, it
provides support to cooperatives in many
sectors.

Which of the statement(s) given above is/are

correct?
(a) 1 and 3 only (b) 2only
(c) 2 and 3 only (d 1,2and3

64. Consider the following statements in the context
of the ‘National Financial Reporting Authority’:
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1. B ¥ R sierd 1 36 steae g
IERIRIpIES

2. &% "fHea g1 1 |, 2018 & TH
a5 6™ & ®9 A TURT T Hi
A & M eff

3. 3ud Hefud srqgfed e e & egEn
TAY AEHA Ul UE @ TeT qeh!
* e HI FARET iR an #% #
wifea frfea =i

ITE weAl § 9 HA-A/A T 2R
(a) a1 3R 3 (b) wea 2
(c)Haa 2 3R 3 (d) 1,2 3R 3

65. 'O UT@F UE Soitd $fd sEEa fas™
F9' & g3d #, frefafeq FoAl W faEr
Hifera:

1. 39 &Y &I IHIfa AR 37,522 *S
g, fogd @ 35266.40 ®UT 4H@
FRURTAT Tl g e e

2. 9% fad 9@ HRE fHeE U Hiu
wg g fowmE d@, 9T "ERT
fashra e qen @eft eegfea o =i

ST He W W BHA-FA TE B2
(a) o 1 (b) Hee 2
(c) 1 3R 2 <=t (d Td 1 ARAE2

66. AT Hufa oH-39 foy sifuftam, 1988 =
ged o, frafafea so w faar #ifsa:
1. &% Afded A 8@ ¥ 39 d8d Mg
TIERT0T & T 3R STdieita =t
FI T H HASA & 2
2. Trottaes wiferentor iR srdieft =memesseon
feoet & U™ qAU 89§ stafeed

Bl
ST el W W wA-G/H 22
(a) HaA 1 (b) Had 2
(c) 1 3R 2 <A (d Ta 1 SRAE2

67. Tr=afafaa wu W foam wifve:
1. T@ ° weied 3 fova 1 wgan = 9ive
S feman B
2. TE SUE &% HiemH ¥ W R Feft et
gral ® e g g
3. 39 dfve & WY 9IeH H Haq AcA
e it gHAf=d & § e fue

1. Rangchari  Shridharan  was
appointed as its chairman.

recently

2. Its establishment was approved by Union
Cabinet on 1 March, 2018 as an independent
body.

3. According to the new rules regarding it, it
will be vested with power to monitor and
implement the enforcement of auditing and
accounting standards.

Which of the statement(s) given above is/are

correct?
(a) 1and 3 only (b) 2 only
(c) 2 and 3 only (d) 1,2and3

65. Consider the following statements in the context
of the ‘Fisheries and Aquaculture Infrastructure
Development Fund:

1. The estimated amount of this fund will be

7,522 Crore Rupees out of which 5,266.40
Crore Rupees will be raised from Nodal
Loaning Entities.

2. National Bank for Agriculture and Rural
Cooperatives
Development Corporation and all scheduled
Bank shall be the nodal Loaning Entities.

Development,  National

Which of the statement(s) given above is/are
correct?

(a) 1only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

66. Consider the following statements in the context
of ‘Benami Transactions (Prohibition) Act, 1988’:
1. The Union Cabinet recently approved setting
up of Appellate Tribunal and establishment

of Adjudicating Authority under it.
2. The Appellate Tribunal and Adjudicating
Authority will be situated in National

Capital Region of Delhi.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

67. Consider the following statements:
1. World’s first blue bond has recently been
issued by Seychelles.
2. Investment from public and private both
sources will be obtained through this bond.
3. Seychelles will be assisted to ensure the
sustainable fishery through this bond.
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IwfE w9 9 SE-FUA TE 282
(a) Fad 2 (b) wee 1 3R 2
(c) ®ad 2 3R 3 (d) 1,2 3R 3
Afygsw gfaeugl gasi®-2018 & G3d &
frefafea wo W faar wifsa:
1. I8 € THAHE HIRH gRI S & I
areft aftfer o 2
2. TEW 9RA 7 60e T yrw T 2
3. O G U SRt 3 9y T, Sefen
AR 3 39U @ SHA 7 9 wme
gt T 21

Sude wAl W 9 SE-"/A T 27

(a) ®ad 1311 3 (b) wod 2

(c) ®ad 2 3R 3 (d 1,2 3R 3
‘AiEE W e @ g’ ®, frfafea

Fodl R faum Fifea:

1. 2017-18 & & ® fhdM IAREH G,
Fio-T=, gEER gawnet iR uver
AU ! Ferel a1 & fad T 700 HS &
g & G 39 A HT GO HT TS oA

2. 39 AH % d8d AR, TN SR 3T 1
HiHal i fer w6 & U & 9R F fofa
femn T 2

ITe woAl § 9 HA-T/A T 22

(a) & 1 (b) wae 2

(c) 1 3R 2 =F (d T SRAE2
fava snfefw 79 & 93 o, f=fafead oAt
T foar sifsd:

1. 9% dre=itieh- st 9= 3 U A
e 2, oo sEva fava & gq@
ST, AR Tiae, feremfast,
gfgsiifaat qen o= gq@ &= & swof
@M % fod ™ w9 w w9 H e
HET 2

2. THH G SHdl, faesras o feorg 21

ITE oAl § 9 HA-E/A " 2R

(a) Had 1 (b) HadA 2

(c) 1 3R 2 <A (d) Tar1 SRAE2
TFAY 2TT WS (IATE) ® W A,
frefafea wo w faar wifsa:

1. 9 fafia =gaa we & fawia wi®

THIES B GENU WiE W9 HRER
F B

68.

69.

70.

71.

Which of the statement(s) given above is/are
correct?

(a) 2 only

(c) 2 and 3 only

(b) 1and2 only
(d) 1,2and3
Consider the following statements in the context
of Global Competitiveness Index-2018:
1. This is an annual report released by the
World Economic Forum
2. India has been placed at rank 60.
3. USA is on the top, while Singapore and
Germany are on the second and the third
positions respectively.

Which of the statement(s) given above is/are
correct?
(a) 1and 3 only
(c) 2 and 3 only

(b) 2 only

(d) 1,2and3
Consider the following statements in the context
of ‘Operation Greens Scheme’:

1. This scheme was announced in the 2017-
18 budget with an expenditure of Rs. 700
Crore to promote the Farmer Produce

Organizations, agricultural  provisions,
processing facilities and professional
management.

2. Under this scheme, decision has been taken
regarding the solutions to stabilize the
prices of tomato, onion and potato.

Which of the statement(s)given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements in the context
of World Economic Forum:

1. This is an international organization
for public-private  partnership  which
aims to function as a forum for major
business persons, international politicians,
educationists, intellectuals and leaders of
other major fields.

2. Its headquarters are situated in Geneva,
Switzerland.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only

(c) Both 1 and 2
Consider the following statements in the context
of Exchange Traded Fund (ETF):

1. Unlike the regular mutual funds, these trade
like a general stock in the stock exchange.
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2. ! EUR-fas! A= Wi =i e
% YSfipd SRt g0 1 STl

IwfE w9 9 SE-UA TE 287
(a) et 1 (b) ®aa 2
(c) 1 3R 2 =F (d Td 1 RAL2

72. freAfafed wot W faer Fifa:
1. 9o 91 We-31 3fean faw swy &
IS FgeR 2017 § e = em
2. 3@ ¥ U AR wWre-3 sfean fraw
HAEH HT AESH dtfan o fwen wEm
3. wré-sm gfean fraw wrefwEy &1 3Rv™
IR Fanell o FerER iR SuEierd
1 Wedred < 2
SwE wUAl W 9 SE-F/A HE 27
(a) a1 (b) wad 2 3R 3
(c) ®ad | 3R 3 (d 1,2 3R 3
73. ‘fr= e woiH’ & Wed W, FAfafead woAm
R fa=mr #ifed:
1. T | O YUYW R 9RA &1 AT Hi
AT FE ¥ RN HT faa 7
2. 3D TR 9RA &1 e & guw 7 7
HT HWROT RIT BT FHT AARTHI

fearfa 2
ITe woAl § 9 HA-T/A T 22
(a) Foa 1 (b) wae 2
(c) 1 3R 2 <A (d) Ta1 A2

74. ' RA AU =AUR AeA-2018" & @I #,
fr=fafea woml W fa=r wifsd:
1. ST 39 AR Hel 1 Bihd <97 o1l

2. 9T 39 AR HA HT GER 2T o

SUge el § W wA-G/d T 22
(a) 9 1 (b) Faa 2
(c) 1 3R 2 <A (d) Tar1 SRAE2

75. Trafafaa wo w faar wifse:
1. Hiderg iR fHMR & o= W9 9Rd o
qEw wed w1 Ay 2l

2. N9 9RA %1 1291 Fod ST A6 RN
qen 1891w w1 fafd WEEr 2w Rl

ST HeH W W HHA-FA TE B2
(a) Had | (b) HadA 2
() 1 3R 2 <=t (d Td 1 ARAE2

2. These are traded through a registered broker
of an approved stock exchange.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

72. Consider the following statements:

1. Start-up India Investment Programme was
organized for the first time in November
2017.

2. Start-up India Investment Programme was
recently organized for the second time in
Beijing.

3. The objective of the Start-up India
Investment Programme is to promote
innovation and entrepreneurship among the

Indian youth.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 and 3 only

(c) 1and 3 only (d) 1,2and3

73. Consider the following statements in the context
of ‘Fitch rating agency’:
1. It has recently refused to upgrade India’s
ranking for the first time.

2. According to Fitch, weak fiscal status of the
country is the reason for no improvement in
India’s rating.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

74. Consider the following statements in the context
of ‘India International Trade Fair-2018’:
1. Afghanistan was the country in focus of this
trade fair.

2. Nepal was the partner country of this trade
fair.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

75. Consider the following statements:
1. Japan is the third biggest investor in India
after Mauritius and Singapore.
2. Japan is India’s 12th largest import partner
and 18th largest export partner country.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2
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76. ‘meAw U wAIY] ik W@iE' & G’d A,
frefafea s W faar wifsa:
1. 7€ emftnr 3R Hifggd &9 & &= T
Bfoar fsmor wwetar 21

2. 9% THACT 1 [, 1988 I ] g3 ol
3. B@ o smfet Teufd eFee 29 A 39 dfy
Y T 1 T HE B CO0N Bl B

IwE FUA W 9 SE-FUA T 22
(a) Heel 1 3R 3 (b) e 2
(c) haet 2 3R 3 (d) 1,2 3R 3

77. snteae fena fafed difen wg (TEhues <)
% Ty °, frafafad oMl W foer FifsE:

1. & a1 I=uad &l FeRHR 3T
il @5 B

2. THHT e & SR Gl A b we-any
IRERIA qon goivd § gfg & "eEm 9
IRERe favard wd sfavars 1 agre
R

3. BTl & ° Tuh! el Se fAmg | g oft|

ST FUA § § FHE-GU/A TE 27
(a) Haa 1 (b) e 2 3R 3
(c)Faal 1 33 (d) 1,2 3R 3

78. freAfafed wot W faum wifsa:

1. & ¥ ufern-Rw difen (TWm) #1o12ar
forer e dfesad &t TSy geed |
srnfsra feram m

2. 30 R oo +t Stemenl dfesad &
Tezufd Mo Tk g T TR eff

3. THHT TG 2008 H U iR ufern &
a9 aaed Td wedn dgm & fod uw
9 % &9 H H TS off|

SUge el W W wA-G/d T 22
(a) e 3 (b) Fa 13K 2
(c) ®ad 2 3R 3 (d 1,2 3R 3

79. ‘gt uferen forer g’ & Wi o, fr=fafed
Fot R faum w3
1. a% uRmen-tfafthes & 18 39 & ware
BN Henferd U HE 7
2. 3O TS e v, gren ik wgig &
3SRYF § foman T em
3. B H 3qHT 1391 ITeR aeer HafrEn |
O g3l

76. Consider the following statements in the context
of ‘Intermediate Range Nuclear Force Treaty’:

1. This is an arms-control agreement between
US and Soviet Union.

2. This agreement came into force on June 1,
1988.

3. US President Donal Trump has recently
announced to withdraw himself from this
treaty.

Which of the statement(s) given above is/are
correct?
(a) 1and 3 only
(c) 2 and 3 only

(b) 2 only

(d) 1,2and 3

77. Consider the following statements in the context
of ASEAN Defence Ministers Meeting Plus
(ADMM plus):

1. This is the ASEAN’s highest Defence
Advisory and Cooperative System.

2. Its objective is to promote mutual trust and
confidence by growth in transparency and
openness along with defence and security
challenges.

3. Its 5th meeting was recently held in
Singapore.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) 1and 3 only

78. Consider the following statements:

(b) 2 and 3 only
(d) 1,2and3

1. 12th summit conference of Asia-Europe
Meeting (ASEM) was organized in Brussels,
Belgium’s capital.

2. This summit conference was chaired by
Donald Tusk, the President of Belgium.

3. It was founded in 2008 as a forum to
promote the dialogue and collaboration
between Europe and Asia.

Which of the statement(s) given above is/are
correct?

(b) 1and2 only

(d) 1,2and3

(a) 3 only
(¢) 2 and 3 only

79. Consider the following statements in the context
of ‘East Asia Summit’:

1. This is a forum coordinated by the leaders
of 18 countries in the Asia-Pacific region.

2. Itwas founded with the objective of regional
peace, security and prosperity.

3. The 13th summit conference was organized
recently in Malaysia.
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IwfE w9 9 SE-FUA TE 282
(a) Haa 3 (b) o 1 3R 2
(c)Fa@ 2 33 (d) 1,2 3R 3

80. fr=Afafed ot W fa=m wifsa:
1. hiciEl JHH Tk & Hogshil 9fha 2|
THHT T 2003 H e oI
2. A T Sicish 1 TS Hidal H Hiciat
FHHCYH & oIS AR 1 Gi=ral o
3R BT A FHeyH TS gal
3. g e < % fod faReh GwR @i
Hfocicas 9™ #1 YU I 9l U

weHE Bl
ST Fo H§ 9 HHA-TUA TE B2
(a) Faa | (b) et 2 3R 3
(c) ol 1 AR 3 (d) 1,2 3R 3

81. ‘dfsre’ & wed o, frfafed wemt W fo=m
Hifera:
1. dfcsad & gued | gC gUuE 99 & form
forer gwes ® 27 <30 & Aaiet gw faed
% ‘Sfoere’ wE Hl A & TR
2. 29 W, 2019 T oA &1 GUNT o Hl

B I T
ST FoA H § HHA-UA TE B2
(a) HaA 1 (b) Fad 2
(c) 1 3R 2 <t (d) Fd 1 AL 2

82. U e Hifdq 2017 & Frefafad § 9 SiA-9
T T 2R?
1. 2025 T S eI X 1 67.5 H @R

70 LI
2. 2025 T JATHAR H 2.1 HIEE dH
FH HT
3. 2025 9% 5 99 ¥ &H Y HI T K Hl
23 T @I
hd:
(a) od 1 (b) weel 2 33
(c) ®aad 1 33 (d) 1,2 3R 3

83. ‘erfta oAty emfefer TR (STRHEW) ' &
g3y o, frefafea womt w fo=mr #ifsa:
1. 9% U A & o AR HEEdl ©
e ford 16 29 & = @ o 2|
2. THSH! Hiael SA-E G oo B
¥ famR o smfea &t T

Which of the statement(s) given above is/are
correct?

(a) 3 only (b) 1and 2 only

(c) 2 and 3 only (d) 1,2and3

80. Consider the following statements:

1. Colombo Process is a regional consultative
process. It was established in 2003.

2. Recently, the fifth meeting of senior officials
of Colombo Consultation and the sixth
ministerial consultation were organized in
Colombo, the capital of Sri Lanka.

3. This is a platform to manage foreign
employment and contractual labor for Asian
countries.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 and 3 only
(c) 1and 3 only (d) 1,2and3
81. Consider the following statements in the context
of ‘Brexit’:

1. ‘Brexit’ proposal of the Britain was recently
approved by the leaders of 27 countries in
the special summit of European Union in
Brussels, Belgium.

2. Britain has to exit from the European Union
by March 29, 2019.

Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
82. Which of the following is/are the aim(s) of the
National Health Policy 2017 ?

1. To raise the life expectancy rate from 67.5
to 70 by the year 2025.

2. To bring the TFR down to 2.1 percent by the
year 2025.

3. To bring the fatality rate of less than 5 years
to 23 by the year 2025.
Code:
(a) 1 only
(c) 1 and 3 only

(b) 2 and 3 only
(d) 1,2and3

83. Consider the following statements in the context
of Regional Comprehensive Economic Partnership
(RCEP):

1. This is a comprehensive regional free
trade agreement for which negotiations are
underway among 16 nations.

2. Its seventh inter-sessional ministerial
meeting was recently organized in
Singapore.
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3. =99 efEEE & 10 <9 ot wfte 7

SUge sl § W wA-G/d T 22
(a) ®ad | (b) eet 2 3R 3
(c) ®ae 1 3R 3 (d 1,2 3R 3

84, Sczee faey o1t Jwid (Siugdl) & g3
¥, freafafed woAl W faar wifsa:
1. SRaEgse faen e Jwid sTHieRT &1
Fog &g SR e YA AT o
FHTIHA 2
2. TH e el < o TSI IR hi STHIERT
H el W fore ot STuf o o1k o
I SRl < & o @ T
Sude weAl W 9 SE-"/A T 27
(a) Had | (b) HadA 2
(c) 1 3R 2 gH (d T RAE2
85. fr=Afafed ot W fa=m Fifsa:
1. sfw A 7a ® fasen @ o1 g S
100 IR 1 SFReESS fawd s Jwig
(SfraEdt) & Yook o WEEEl & 3t
TS i foe &1 goft 9w w1 K 2
2. SRR &1 I8 i | T6a, 2018 | @R

B T R
ITe woAl § 9 HA-T/A T 22
(a) HaA 1 (b) Had 2
(c) 1 3R 2 =H () Tar1 A2

86. T=fafeaa &l W fo=m *ifvd:

1. SR TR T 1 TG 17 TE, 1865
%! Ui ¥ g el

2. IR SWHAR TH & e e,
feases o fem 2

3. YRd I T IR a€f Hi 1@ (2019—
2022) & ford 9A: AT TEAR |
RO H T I T T

STgF weAl ¥ W wH-G/A w22
(a) ®ad 1 3R 3 (b) e 2
(c) e 1 3R 2 (d 1,2 33

87. e@ W fr=fafea o @ fea famia wifa
qEERR-2018 Y& e mn?
(a) Tg A (b) ek gfaw
(c) SHeE 2 (d) TE hifag

3. 10 nations of ASEAN are also its

participants.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(¢) 1and 3 only

(b) 2 and 3 only
(d) 1,2and3

84. Consider the following statements in the context
of Generalized System of Preference (GSP):

1. Generalized System of Preference (GSP) is
the largest and the oldest trade preference
program of the US.

2. This was introduced to promote the
economic development by providing
permissions of duty-free listing to thousands
of products of targeted beneficiary nations.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

85. Consider the following statements:

1. US has recently removed 100 import
products from the category of duty-free
list under the duty-free provisions of
Generalized System of Preference (GSP).

2. This decision by the US is effective since
November 1, 2018.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

86. Consider the following statements:
1. The International Telecommunication Union
was formed on May 17, 1865 in Paris.
2. The headquarter of the International
Telecommunication Union is situated in
Geneva, Switzerland.
3. India has been re-clected as a member of the

International Telecommunication Union for
a period of four years (2019-22).

Which of the statement(s) given above is/are
correct?
(a) 1and 3 only
(¢) 1and 2 only

(b) 2 only
(d) 1,2and3
87. Who among the following was recently awarded
with the Seoul Peace Prize-2018 ?
(a) Narendra Modi  (b) Vladimir Putin
(c) Donald Trump (d) Ramnath Kovind
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88. T H fTr=Afafed # @ f&d gom fava iy
YRR g e Ta?
(a) . Sk dea
(b) W. THUH. W@HHIeR
(c) S T, fog
(d) . . 54
89. fr=fafead ot W fa=r Fifa:
1. T H 9 ¥ favd & 9o &e 99t 9a
(55 feptit.) =1 enfuepTitr IR W =@
% forl @ fean a2
2. 39 ga &1 fmor w5 o d 2017 ° 9w
o= T
3. I8 A ot R wegdt & fanfiam s@
&5 H S T 2
IwfE w9 9 SE-FUA TE 287
(a) Faad 1 (b) el 2 3R 3
(c) ol 1 AR 3  (d) 1,2 X3
90. fr=fafed ot W faur Fifs:
1. TS STER o, STW HAle Rd ¥R
TR U® I HEdi S & ST W

T S 2
2. 9U9 TN AR fad &1 SN 2017
o fwan = e
Iwfe w9 9 SE-FUA TE 287
(a) FaA 1 (b) Fad 2
(c) 1 3R 2 <At (d) Td 1 32

91. fr=fafad ol W faar wifs3:
1. ToI99l 1 Y% 986 5 9 & fod g
SIS
2. U 2 99 A€ TG & Th-Tae 9esd
Yt 8l W 2
IwfE w9 9 SE-FUA HE 27
(a) FaA 1 (b) Fad 2
(c) 1 3R 2 <t (d Td 1 RAE2
92. fr=fafad ol W faar wifs3:
1. =i faden o fades © a1 7, @8 fHivem
T T I AHEAT AAY HT Bl €
2. HEE & T Gl 1 AR wgw Ao
qAE W B A SHB! S{EAET AhEl

e il g
Iwfe w9 9 SE-FUA TE 287
(a) FaA 1 (b) Faa 2
(c) 1 3R 2 <t (d Td 1 R 2

88. Who among the following was recently awarded
with the first World Agriculture Prize:
(a) Prof. Deepak Pental
(b) Prof. M. S. Swaminathan
(c) Dr. N. K. Singh
(d) Dr.R. K. Jain

89. Consider the following statements:

1. Recently, the world’s longest sea bridge (55
km) was officially inaugurated in China for
traffic operations.

2. Construction of this bridge had been started
in the year 2017.

3. This bridge has been constructed in the
Lingdingyang waters of the Pearl River

estuary.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and3

90. Consider the following statements:

1. National Ayurveda Day is celebrated by
Ministry of AYUSH every year on the
occasion of Dhanvantari Jayanti.

2. The first National Ayurveda Day was
organized in 2017.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

91. Consider the following statements:
1. All members of the Rajya Sabha are elected
for 5 years.
2. A one-third of the members of the Rajya
Sabha retire after every 2 years.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

92. Consider the following statements:

1. The Speaker of the Lok Sabha is responsible
for deciding whether a bill is money bill or
not.

2. If a joint sitting of both the Houses of the
Parliament is called, the Speaker of the Lok
Sabha presides over the sitting.

Which of the statement(s) given above is/are
correct?

(b) 2only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
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93, ‘¢ fags’ & Gl H, fmfafed ol W
fo=m =wifs:
1. o® Ugufa & foawfe 9 &€ den faw
wrera § € w&qd fRa ST HeRa )
2. TUfq o uE AfueR e § fR g =@
U 1 AR & fod e "ol
3. 3O% UM | GgH S A HT WA
T 2
ST wedl § 9 HA-E/A T 2R
(a) Fae 1 AR 3 (b) Had 2
(c) Tae12 3R 3 (d 1,2 3R 3
94, Afavera w@ & wed o, frAfafad werl w
formm wifsa:
1. I8 %aa fauea & fwdl 9= g/ & @
S Fhdl 2
2. I8 UEE aH & fod A a & FH-9-F0
20 = % THelA 1 wedd Bl 2l
3. A g8 dshg g wia Y fEan s @
q gerEsH den wtafg & eifrerd ' u
T AT 1 v 2
ITE wedl § 9 HA-E/A TE 2R
(a) Fad 1 (b) e 2 3R 3
(c) ®ael | 3R 3 (d 1,2 3R 3
95. i o wfifad & g’y o, fefafed wemi ™
formm wifsa:
1. 3UH! ol TS TEAT 22 T 2
2. AR #1 FE ot e TEH ke T2
B Hehel B
3. 3HH H¥ TEd: 9Rd TWEHR & @l &
Yoy ¥ e Heca-Thers g & T
e W fa=m we g 2
IwdE FUAl W 9 SE-FUA TE 287
(a) ®ac 1 32 (b) Had 2 AR 3
(c) Had3 (d) 1,2 3R 3
96. fr=fafad oMl W faar wifs3:
1. R I=9 AR H1 HIE AR q9
Tk YT IS N1 Hidl €, ST qh I8 65
oY T &l Bl S
2. IR 3=9 <R 61 Hiz AR afg
Hiferd HEER A1 STEHLAT T SO 9 S
g @ gog & <A g & a9 agEd &
HHR W IW 98§ gIAN We B
IwfE w9 9 SE-FUA TE 287
(a) FaA 1 (b) Faa 2
(c) 1 3R 2 <At (d Td 1 RAE2

93. Consider the following statements in the context
of ‘money bill””

1. It can be introduced only in Lok Sabha and
only by the prior recommendation of the
President.

2. The President has no right to return it to the
Parliament for reconsideration.

3. There is no provision for calling a joint
sitting regarding this subject.

Which of the statement(s) given above is/are
correct?
(a) 1and 3 only
(c) 2 and 3 only

(b) 2only
(d) 1,2and3
94. Consider the following statements regarding a
motion of no confidence:
1. It can be introduced only by a member of
opposition.
2. A support of minimum 20 members is
needed to introduce the motion.

3. Prime Minister and the cabinet has to
necessarily resign if it is passed by the
parliament.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2and 3 only

(c) 1and 3 only (d) 1,2and3

95. Consider the following statements in the context
of Public Accounts Committee:
1. It consists of 22 members.

2. A member of cabinet cannot be a member of
PAC.

3. Its main function is to examine the report of
the Comptroller and Auditor General.

Which of the statement(s) given above is/are

correct?
(a) 1and?2 only (b) 2and 3 only
(c) 3 only (d) 1,2and3

96. Consider the following statements:

1. Ajudge of a high court in India holds office
until he/she attains the age of 65 years.

2. A judge of high court in India can be
removed from office on the basis of special
majority in both the Houses of Parliament if
found guilty of misbehaviour or incapacity.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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97. Tl & Hed W, fr=fafed wai W fa=ur
e
1. TSHUTA qLU(A & JHRYAd 3791 U8 &R0
Tl 2
2. T U8 WA Afd @9 T HIE
off g RO HT ekl 2|

IwfE w9 9 SE-FUA HE 22
(a) oA 1 (b) Faa 2
(c) 1 3R 2 <t (d Td 1 R 2

98. fr=fafad woml W faur wifsa:

1. 9Rd ¥ @ STRTerdl i saeen fafies dan
TfereRTer STfafEm, 1987 & dgd i T oft|

2. @ el | fafae yefa & @ 9r
foqarg qen sael IEAR YHfd & AT
e AT S 2

3. ol 3ETerdl o i & faers fadt st
1 JreeH Tl el

IwfE FUAl W 9 SE-FUA TE 282
(a) Haa 1 (b) e 2 3R 3
(c) hael 1 3R 3 (d) 1,2 3R 3

99. fr=fafad woml W faar wifs3:
1. 9 & frated omgea &1 fgfea wseufa
F B, W SU UE ¥ BSH I AUBHR
g% ToIare % a2
2. 59 & Wi Hal 3TN & 3238 T 9e&
1 Frgfem Tefa & €, WY 3% ) 9
T2 & AR fah TsITel % q gl B
IwdE FUAl W 9 SE-FUA TE 287
(a) FaA 1 (b) Fad 2
(c) 1 3R 2 <t (d Td 1 RAE2
100. F=fafad wo W four *ifse:
1. Tgufd =l AfusR € foh o T e
F SO T A T IS R
T &% Hele H AT Hehel B
2. U A9 i STEWUN 9% 6 HEH a9
TGOS % IR & o o] @ Hehdl 2l
3. U UG 1 ISEON THE & A1 |l
B STAIR 89 W shad | HIE d& ar]

Tl 2
IrfE FUA W 9S-I/ T @ 22
(a) oA 1 (b) ®ee 2 3R 3
(c) ®ad | 3R 3 (d) 1,2 33

97. Consider the following statements in the context
of governor:
1. The governor holds office during the
pleasure of the President.
2. A person appointed as the governor can
hold another office of profit.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
98. Consider the following statements:

1. Lok Adalats in India were provisioned

under the Legal Services Authorities Act,
1987.

2. A Lok Adalat can take up almost all civil
disputes and only compoundable criminal
cases.

3. There is no provision for appeal against the
decision of a Lok Adalat.
Which of the statement(s) given above is/are
correct?
(b) 2 and 3 only
(d) 1,2and3

99. Consider the following statements:

(a) 1 only
(c) 1and 3 only

1. Although a State Election Commissioner is
appointed by the President, he/she can be
removed only by the Governor.

2. Although the chairperson and the members
of a State Public Service Commission are
appointed by the President, they can be
removed only by the Governor.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

100. Consider the following statements:

1. President has right to declare national
emergency in relation with India or its
particular region.

2. Proclamation of national emergency can
continue only for 6 months without approval
of the Parliament.

3. Proclamation of national emergency can
continue only for 1 month if approved by
both the Houses of Parliament.

Which of the statement(s) given above is/are NOT
correct?

(a) 1only

(c) 1 and 3 only

(b) 2 and 3 only
(d) 1,2and3
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